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: GENERAL INSTRUCTIONS :

. @ g90Q LAY 2AHGIER 20D @16 8 LJY RAIRD I§ Q&R |
The Question-cum-Answer Booklet consists of long and short answer type of questions.

. Q1 20RYPa gg A8 F76a 2aa Rl dR GRIGE e GXIARE | RIgIRIEs 628
J? FRIER AR 6T AIQaiR |

For subjective type questions required space for each question has been provided. The
candidate has to answer the questions in the space provided.

° Gead AL dEQYR dYQ Q@ 699! ZiQdia |
Follow the instructions given against both the objective and subjective types of questions.
° QAR @l V° e QM INE 6dAER AT 2IQaNe |

Candidate should write the answer with blue / black ball point pen only.

o dgde Ry e HIvER el g 9E9l, 696 6lg ARIRAl, G0 gal Q¢ 6 gg Qe
drleel fase caididivieg, €8 dae Syal Ane GeIde |

Extra 15 minutes shall be given to read the Question Paper -cum- Answer Booklet, verify the

subject code, No. of questions, No. of printed pages and illegible printing if any for exchange.
° Jgde °ng 2QQ SR 69860 ARG A HIR 949, gm @Rl 64 62161 dEa AR

EATIQI FI68 MNRLIR AAIIS | FAB JUIER 616Id Jga e 6ndel 696w dga afie

Y RN 2SR |

Extra pages given at the end of this booklet may be utilised for writing the answers or extra

answers if necessary. Question serial numbers with bit number if any should be written on the
margin of the additional Answer Book.
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MATHEMATICS (PART - 1I)
SAMPLE QUESTION PAPER FOR HSC EXAMINATION, 2014
Time : 12 Hrs. Total Marks - 50
INSTRUCTIONS :

1. There ar&ive Questionsin this part of the question paper.

2 All the questions are compulsory and all are haintgynal options.
3. Draw figures where-ever required.
4

The numbers at right hand side represent the marks of the question.

1.y 1.y
. —+==5 —+=-=14
1.(a) QI *x (Solve) =19 3 w2 (> 0) [5
@l OR

gsledea a8iee @@ acIe @a (Solve by completing squares 14% + x —3 =0
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(b) 6915 AR YOIPQ YR p HIR Jeq AAE T, 92f § LHie Jo A8 se° ARIRS 28 d
626M 9ISl @Q 69 L—§=(|0—q)9| 5
The sum of the first p terms and g terms of an A.P. is r and s respectively. If the common

r s d
difference of the A.P. is d then prove tI‘bat i (p- Q)E |

@al/ OR

661N RESTITY 26Q FPINRIQ “ TR ] @Al IR > 2" YdAR ARG FQUE @ |
If a die is thrown once, then find the probability of getting

“one odd number or number > 2.
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50d g6a o0 @9Q ge @ada 059¢ 622 8 594 g6e Joia @9 ge 909 7 94l Al |
6069 6AMNNTA QAR 9d Ja aa | [4

Father’s age wll be 3 times of his son’s age after 5 years where as father’s age was 7 times of
his son’s age before 5 years. Find their present ages.

@al/ OR

RS

-~ ~ < a
9@ 41¢ - 2 (5a + 4b) x + far I )= 024AIAGEIA 91090 AAIR U3, 6669 @5l 64,1 =

If the roots of the equations #1x 2 (5a + 4b) x + fa+ b? )= 0 are equal

5
then, show tha% = 1
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(b) 1.3+35+57+... @i do 948 6Q6TR fda e | [4
Find the sum of 1.3 +3.5+5.7 + .... uptonterms.

@al/ OR
Q9 AR 2YB FEHORR ARIFl Fdla @ |

QI (X) 4 5 6 7 8 9 10

QRfIe! (f) 8 12 21 31 18 13 B

Find the median of the data in the table given below.

Score (X) 4 5 6 7 8 9 10

Frequency (f) 8 12 21 31 18 18 5
6
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() A(P-1), B(2,-1)96° C(2,1)8909 I 60¢a 626@, PQ gnY §Qdd Q| [4
If A(P,-1), B(2,-1) and C(2,1) are collinear then find the value of P.
@al/ OR

X, X X, - 99 N LR QRUFR FRIFIG M | 98 YESIR AT (a—b) F6LIT QRIAIN
6062 @42l 69, @OR AT PR ARIAIR (M — a + bEeQ |

The mean of the scoreg X, X,, .... is m. If (a—b) will be subtracted from each of the n scores,
then show that the new mean of the scores is (m —a + b).

https:fbyjus.com
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3.(a) 6915 QAR Q@G ATAN QI AL Y FYl QB AL | AIK AR | [5
If two arcs of a circle are congruent then the corresponding chords are equal, prove it.

@al/ OR

9@ G990 9 Q1gg AIQUIeER 2eRalee AQeel 6ad, a8 Ge9a Qold Q2 d2 AMIBA |
g8 /|

If a line divides any two sides of a triangle in the same ratio, then the line is parallel to the third
side. Prove it.

https:fbyjus.com
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(b) AABCEamMZA=60 b:c=2:3anda=7®&.{. | 39e¢ 2ee @& 1.562.8. s G358
QRER LI @ AQIERI6lT @@ﬁ 2BRER Q9 | [5
Construct the triangle ABC, whose4A =60, b:c=2:3and a=7.5cm., inscribe the similar
triangle of it in a circle of radius 1.5 cm.

@dl/ OR
2.562.8. QUQAT FF8 9@ 98 ITE @R Y@ AWEIL See JARHR @a de 1Y 6RIER
ARNS! 45 699 |
Circumscribe an isosceles triangle whose vertex angl€ is 45circle of radius 2.5cm.
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4.(a) Q@6 93291 QAR QP | QeQ9e Ia ARIRE 298 AB, 98999 A 8 B 596Q 689 Q6R
g8l @R 69, LAPB @ A76RIS! | [5

Two circles touch externally at P. A common tangent of the two circles touches them at A and
B. Prove thatzAPB is a right angle.

@al/ OR
AABC 6@ /B 62161Q 201Q88a AC @ E 96 ¥e° ZC 6R16Q AQdsa AB @ F 996Q 689
@6Q | EFIl BC 626m 998l @@ 69, AABC Q0QQIQ |

In AABC the angle bisectors ofB andZC intersectAC andAB at E and F respectively. If
EF 1l BC, then prove thahABC is isosceles.

10
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(b) 661G FIRRIQ ARERG0IQ ‘A’ @D @° ‘D’ (PR 9REQ U@ AANEASIER Uede 9nd GQQ

2FIRRIR S190 6NdR RQE0 T98 | 2QIeR 696m @I 64, UFRAIR QLS Jab aw

62Q | [5
The angles of elevation of the top of the tower from two points at distances ‘a’ unit and ‘b’ unit
from the base and in the same straight line with it are complementary. Show that the height of

the towar isJab unit.

@al/ OR

A+ B + C =180696m, dalél @a 64, tanA +tan B +tan C =tan A.tan B. tan C
If A+ B + C =180, then prove that tanA + tan B + tan C =tan A. tan B. tan C

11
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862.9. QAR 98 Qa6 862.6. AAFe R4 QA 6806 YLOR PRULR 68RTR I AQ |

J3~1.732) €=3.141) [4
A segment intercepted by one chord of length 8 cm. of one circle of radius 8 cm. Find the area

of the minor segment intercepted. J3=1.732) £=3.141)

@dl/ OR
6615\ BgPIRIa 9 A998 gane ewel 1862.9. | @i QRfiwa cagy 1262.41., 1662.4. 6
2062.¢1. 626@ JETQ QG JIERQ 6IATR 1L° IKeR o @ |

The lengths of the sides of the prism of triangular base are 12 cm, 16 cm and 20 cm. Find the
total surface area and volume of the prism.

12
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(b) 691G Aa@ @,@@ﬁ@ QIR PPl 8 YKAQ QUL 3:2 | 6RIRQ g YICPR TR

1232Q.62.51. 626m Y2 AeTe fda e | n:(%) [4
The height and diameter of a right circular cone are in the ratio 3 : 2. If the total surface area of
the cone is 1232 cinthen find the volume of the cone. n= 372()

@al/ OR
651G 6IRRA ZNER194040.8. | 2R AIRTR GIL I AKCIINRR AR 6960 629
3o @a | (n=2)
The volume of a sphere is 19404°ckind the radius of one hemisphere. equal in volume with
the sphere. n= %) (

13
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SPACE FOR ROUGH WORK

16
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